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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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BfiE) | GEBATK (FY) | EHRE (EH/) | ERERE (B/R) | XK EFE

06:15 273 150.0 0.588 [Z=| 1BRige06:15 Bzh (REERESE)
07:05 273 150.0 0.588 F  BRi&e07:05 Bz (REERESE)
07:50 273 150.0 0.588 El 1BRi&@07:50 Bzl (GRFAEREE)
08:35 273 150.0 0.588 = {RRi8@08:35 B (FRFA{EEE)
09:30 273 150.0 0. 588 F BRi&@09:30 Bzl (RAEREE)
10:15 273 150.0 0.588 = Ri&@10:15 BHah (REAEESE)
11:00 273 150.0 0.588 =l RRige11:00 Bz (REAEEE)
11:50 273 150.0 0.588 Fl BRige11:50 Bz (GRAERESE)
12:35 273 150.0 0.588 5| {Ri%e12:35 Bz (GRAERSE)
13:15 273 150.0 0.588 [ =| BRige13:15 Bzh (REERESE)
13:55 273 150.0 0.588 [Z=| 1BRige13:55 Bzh (REERESE)
14:40 273 150.0 0.588 |&Z=| 1Ri%e14:40 B (KREEZERSE)
15:40 273 150.0 0.588 |Z=| 1Ri&e15:40 Bzl (GRAEEE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.5

#HERECE (2260.0 vs 3293.0) RS




R S it s
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100 A

FRV (ml plant-1)
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R e e e - e e
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150_( MW #30
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0 —%—  ECB*10%

3
X
X
X
X
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optPHO=6.5, setPHB=6.5 —¢—  PHB*10%
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g -

> O

G G i N
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ByEt @D59 19:19: ET=952 Fg=900.0 Ro=nan !
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1
ByWoFyv I@D61 02:00: ET=1536 Fg=1950.0 Ro=353.0 ®

- 2000

- 1000

— RH |
o RHo obs'ning: lcol ['RH_obs’] is missing

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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29 30. 2 A
30. 0 A
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27 4 29.6
T T T T T T T T
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T T T T T T
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m=485,m FV0=0 m=545 m FV0=0
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8 0. 8 A
6 0.6 -
44 0.4
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Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=775, FVO0=0 m=875, FV0=0
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Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
0 T T T T 0-0 T T T T
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Warning: col ['M_E’'] missing
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P5

BfiE) | GEBATK (R)) | EBE (EH/f) | ERERE (B/R) | XS ERF

06:05 273 150.0 0.588 F| Ri%e06:05 Bz (FEAFEHSE)
06:55 273 150.0 0.588 Z| {Ri&e06:55 Bz (KREAEZERE)
07:45 273 150.0 0.588 Z| 1BRig007:45 Bzh (REERESE)
08:35 273 150.0 0.588 Z| {Ri%e08:35 Bz (KREAEZEBE)
09:40 273 150.0 0.588 |Z=| 1Ri%e09:40 Bzl (KREEZERSE)
10:35 273 150.0 0.588 |Z=| 1Ri&@10:35 Bzl (RAEESE)
11:40 273 150.0 0.588 FA| 1BRi%@11:40 B3h (RAEREEE)
12:40 273 150.0 0. 588 FA| {Ri%012:40 Bz CGRAEESE)
13:40 273 150.0 0.588 FA| {Ri%@13:40 Bz CGRAEESE)
14:45 273 150.0 0.588 FR| 1BRi%@14:45 B3h (RAEREE)
15:50 273 150.0 0.588 FA| 1BRi%@15:50 B3 (KRAHERREE)
17:15 273 150.0 0.588 FE| {Ri&@17:15 Bz CGRAEREE)
=it 3276.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (517), set to 450.0 ml.

HEEIKECE (2222.0 vs 3272.0) RS
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing Warning: col ['M_E'] missing
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P5

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EREE (B/R) | XS SRR

06:40 278 150. 0 0. 588 FH| {Ri%006:40 B (KRAHERSE)
07:40 278 150.0 0.588 FH| 1BRi&@07:40 Bzh (GRAEEEE)
08:40 278 150.0 0.588 FH| 1RRi%@08:40 B (FRFA1EREEE)
09:40 278 150. 0 0.588 FA| 1BRi%@09:40 B3zh (KRABIEREEE)
10:35 278 150.0 0.588 FA| 1E2i%@10:35 B3h (kAEREE)
11:30 278 150.0 0. 588 FH| 1BRi&e11:30 Bz (GRAEREE)
12:25 278 150.0 0.588 FA| 1BRig@12:25 B3h (RAHERESE)
13:20 278 150.0 0.588 |X/| 1Ri&@13:20 Bzl (GRAEEE)
15:40 278 150.0 0.588 |/Ifl| 1Ri%e15:40 Bz (GGREERSE)
23] 2502.0 (9%) 1350. 0 32 UHHEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (681), set to 450.0 ml.
FEESRECE (2207.0 vs 3172.0) RS
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Warning: col ["M_E’] missing
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